Math 2153, Quiz #6, Fall 2012 Name Kb \(

Instructions: Show all work. Use exact answers unless specifically asked to round.

1. Find %for w = xsec(y) + xyln(y), x = 2sin(t) et,y = arctan(t) — t by the chain rule. Be
sure to simplify any expressions like sec(arctan(t)) or the like.
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2. Find -a—y-for Xyz + xzw — yzw + W___—_: 5 by any means. F-CX‘\grtlu»° N+ YWY R
gl@ - - j’_‘_‘j_‘ i KE: o o 2w B \ =05 — K2 {
4 “ QD+ KT ~y=2 \'Qw - ‘ X?:"\I'i’i'aub

3. Find the value of the directional derivative for the function f(x,y,z) = xyz, at the point
P(2,3,5) in the direction ¥ =< 2,1,2 >.
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